1.

VIS va o] 362 00] obdl 744 2he Am 3
Tsfofat,

CERS

=]

m,

%

2~
n

a

S

s

o



Hu)
o
o
e
)
Fl'[:‘

84 a, b9 F ab 9] F2?

2 /5 \/7_
3)(\/;— (1,3 EX 57\/5

@1 @ V2 ® V3 @ 2




AA, o¢tell F52=

V6 x O
3xox0Oo

N
W TE

oV
h

oA

oT

oF
W

g

il
<+

~

ifi]

@ V3 ® V5 @ 6 ® V15

@ V2



o 1
A 22 553

[
T

il
O

rr

AR e AL
@ 3.7(2 —+ 7x+ 9

® 2150t 2
@ x*-5x+6

@ 2x2_|_7x+6
B 242 4+ 3x—2



H

o

(x+2)(x-3)=0

2F=x=3
@ x=

-3

DO x=-2EE=x

A
H

|1
y

1
H



6. O|ZAFHFA A x2 4 4x-32 =0 222 - 13x+ 20 = 0 9] 3 EZLS
F3toiet

R grx=



12y = 2 +x—a 9 2T F H (3, 5), (1, b)

H < Adral
k. old, a, b 9] F27

@a:3,b:_7 @6125,17:—6

®a:7’b:_5 @a:—7,b:—4

® a=-5b=-5



29

(Lp)E Adt. pol g

3|
=



S5 & et

P

9. JPjmol Refoly=-2x2 1l x=14 o
ojuf], o] 2o A]2?
O y=-2x>-4x+4 @ y=-2x>-4x+5

® y=-2x2+4x-3 @ y=-2x>+4x+3

® y=-2x2-x+5



10. DABCD lf_‘ XE)]/\]'Z:]l'—C:)_éO]]jl—. @ P, Q _.—_J‘_;l:__/'\_&']/l\j -—(Hoﬂ %% [];H’ };I_—‘_T_JL‘_
P(a), Qb) ol T5Fe] a + b o] S ottt

A

~
IN
N\

DO
B
D
Of<
oo
Y



11. the BE AZ2ES] ARl b F Fol1l £E ol§dte] 1
He T 5 Ak AL
a2 0 1 2 3

40 | 6.325 | 6.332 | 6.340 | 6.348

41 | 6,403 | 6.411 6.419 | 6.427

42 6.481 | 6,488 | 6.496 | 6.504

43 6,557 | 6,565 | 6,573 | 6,580

@® 6.431 @ 6.287 ® 6.573 @ 6.590 ® 6.661



12, (2x-a)> =42 - (b-5)x+ 492 W, a + b 2| F Fatolzt. (&,
a>0)

Ela+b=



© x+2

O x+5

O x-2

® (x+5)°

® (x-2)°

® x-5

® 9,606

© 0,6,
® 606

ORWNC)

ONONCNC)



OJAFTAA ¥ - 3x+1

&

14.

09

@ 3 ® 4

@1



15. oh& 2™ oAt y = —x? 4+ 6x +a O T Zo|th H C, A =
27 x &y Fh s Aol A B = WS x Fol Whhe
Ho|th. AABC 9] Yol7} 40 & 1), ¢ FHS F5}w?

Y
A
|
[
|
D o} Nc
—2[ | B | T




16. oAFTy=x*+dax+b7tx=2°A =@ 6 =72 W, a+b
o] Fh2?

@ -9 @ -6 @ 6 @ 9 ® 14



w17} 2

Ll

=1

®
@ 2 uj

@ 1 Hj

3V3 o
© =

@ 33 Hj



18. o= IdoA A A, B, C, D & 25 FAH
go] Atolol=C =D 2l 24, B & C 9] 2 Hj,
TAZF Aokl ghek A o] Yol 2em? & W, D

A
B
Clp
1 1 V2
@ 7em @) 5 cm - om
V2 V2
— cm ® —cm



19. FolapdAA 2x? —ax+2=0,x*-3x+b=09] F&% 7 2

i, ab 2| gh& -5HA?

® -25 @ -10 ®1 @ 10 ® 25



20.

x ol gt o] ZAYF A X + 2ax + 9 - 2a* = 0 ©]
i, o + g% o] H&:3te FoHA L.
(Fa=pA AT 2

>
=%

L=
+ =

a,p 5 7H



21.

(]

15

]_

23}

Ary=3x2+2x+a o IHZI} A (a,a®> +2) Y x
T Aol Y& o o] ZH2 A5hoigt,

I.

1L

La=



22. b T OIS y = ax? 4 bx + ¢ 9 Teoleh. #4744 ABC
o] el7t 12 9 wl, 474 BOD < WolE Fohu?

yl\

ol =

~C 10 =

@ 106 @ 107 ® 108 @ 109 ® 110



K2 y?

23.

=34, x2—4xy+4y?>—8x+16y—11 o] 27 (Th x 2 y)

® -13 @ -7 ® -5 @ -3 ® -11



O|ZAFHAA] 2 £ bx+c = 00] O|FHAA] 42 —5x—q = 0 T2 ZEZ
25 FTeE VM W, a+ b+ c 9O F= FShojetk

v
o






